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Q.No: 1 Which recommendation is not related to the Balwant Rai Mehta Committee?
2623703

D Ot R gadd w9 dgdr Iffa I Jafda T8t 82

B R Mehta recommended the 3-tier structure of Panchayati Raj.

A
& IR AgaT A YA IS B 3-F HGT BT RAwIR S
Panchayat Samiti should be the “"Executive body” constituted of indirectly elected members.
B
vy ¥ ¥ faifia el § fsd "srieRt e tara afifd g Tty
Village Panchayat constituted the indirectly elected members.
C
I U9Tad A Iy U 8 Faffaa vewi &1 16 fean
Zila parishad should be an advisory & supervisory body.
D

forem uRue v Hae®R g a1y

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 2 Farakka project is built in which state of India?
2624344

TRaehT URANSHT T fAATT HRA & 59 Ieg | fobar mar g2

West Bengal
A
uf3e e
Jharkhand
B
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Kerala
C
Cau|
Rajasthan
D
RISEIG]

Correct Ans : A

Subject : General Knowledge graduate

Q.No: 3 Which among the following is the primary cause of India's loss of top soil?
2624521

i & & HF-91 URd 3 FU B & THae &1 mufs FRrg?

Wind erosion

A
&dl DI Dcld
Excessive leaching
B
srafire Feme
Water erosion
C
U BT &ROT
Deforestation
D

1 Pt BeTg
Correct Ans : C

Subject : General Knowledge graduate

Q.No: 4 In which year did Malwa become a part of the Central Provinces?
2642777

Aear feg 9 weg uid @1 fewar o

1817
A

1817

1839
B

1839

C 1861
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1861

1900

1900

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 5  OQut of the following districts of Madhya Pradesh, which one is in the westernmost position?
2651239

e Uex & fFgfafad el # ¥ oF 91 99 oy 9 R 82

Ratlam
A

ceH

Shajapur
B

RATSTYR

Raisen
C

AT

Sagar
D

AR

Correct Ans : A

Subject : General Knowledge graduate

Q.No: 6 Which of the following cities of Madhya Pradesh had witnessed the legendary romance of Rani Roopmati and Baaz

2651285 pgahadur?

A 9w & Fofifed & ¥ g 2R 3 I Turdt ok S 98TgR & URIOG UH URAT &Y @ UT?

Nepanagar
A

IR

Khajuraho
B

GERTE!

C Mandu
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Aig
Jabalpur

STAYR
Correct Ans : C

Subject : General Knowledge graduate

Q.No: 7 Rani Avanti Bai was the Queen of which place in Madhya Pradesh?

2651551
I et S1E Hew vew H fohe i @i I off?
Maheshwar
A
W
Nepanagar
B
BLIEU
Jhansi
C
it
Ramgarh
D
MG

Correct Ans : D

Subject : General Knowledge graduate

Q.No: 8 In Madhya Pradesh, The Kaliyadeh Palace is located on the banks of

2651759
ey Uex H, SIfereg Uy F dc R fRa g1
Son
A
LilE|
Shipra
B
R

C Betwa
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Correct Ans : B

Subject : General Knowledge graduate

Q.No: 9
2651861

In which year Bandhavgarh National Park was declared a tiger reserve?

FiYaTe AT IAM I fbw au S1Y ARG T faam ar Ut
1993

1993

2004

2004

1999

1999
2002

2002

Correct Ans : A

Subject : General Knowledge graduate

Q.No: 10
2679986

Which of the following mosques is known as the 'Masjid-e-Jahanuma'?

frofiied & 9 fra oftse &1 ofese-T-SRTgAT & 1 ¥ ST ST 82

Haji Ali Dargah

gTolt 3reft qvame

Moti Masjid

Hidt wfere

Jama Masjid

ST 9fTg

Mecca Masjid

GET IT ON

Google Play
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HahT AfRTq

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 11  Who out of the following was an Indian dancer and choreographer, best known for creating a fusion style of
2680004 dance, adapting European theatrical techniques to Indian classical dance?

fufafad # @ o1 e URdg 70 IR FIRGTER 3, 52 R ARET dob-e! & HRAT IRAT T § giaar Id &1 b
Terg el S P FoIT S e 87

Ravi Shankar

A

I g

Uday Shankar
B

3IqY U

Mamata Shankar
C

HHAT PR

Ananda Shankar
D

3(HE TP
Correct Ans : B

Subject : General Knowledge graduate

Q.No: 12 The Palas, who ruled in the eastem region of India during the 8%-12% centuries CE, were the patrons of
2680656 hich religion?

8 df-12 df TrcTedt SWH & GRM YR & YdT &7 § e P a1l U fovd o & TRefd 32

Hinduism
A
fg wi
Islam
B
X
Jainism
C

oy
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Buddhism

s o

Correct Ans : D

Subject : General Knowledge graduate

Q.No: 13 Which of the following statement/s is/are incorrect?

GET IT ON

Google Play

2681279

9 & ¥ SIS S e 87

Current Account accounts for the smallest fraction among the current, savings and term deposits
A

T, T9d 3R Fraft 5w & A 91 Wrar 99 9 8

Savings account is actually a demand deposit
B

F9q QAT a9 | TP T o0 7

Current account has overdraft facilities
C

arg @rar # Sffaed dar @

Savings Account has Minimum Balance Requirements
D

94 @raT § YATH AW ATGRTH Tl et &
Correct Ans : D

Subject : General Knowledge graduate

Q.No: 14 Who out of the following is known for her works in “the method of generating high-intensity, ultra-short optical

2683382 pulses”, and also won the Nobel Prize for Physics in 2018 for her research?

fafafad # 9 o9 "I digdr UeT A, Siegl-

Y 3PFd aded &I faft & o= diveM & forg ot ot € Ud 351 3o <My & faw 2018 H Hifddt &7 FI9d REPR SitdT 82

Geraldine Mourou

A
SRIfeS HIRY
Donna Strickland
B
SHT Kiwds
Nadia Murad
C

ArfeaT qRIg
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Nancy Springsteen

A B
Correct Ans : B

Subject : General Knowledge graduate

Q.No: 15 Which of the following claims is true?

2683533
I) People who migrate to a new location are known as immigrants.
II) Emigrants are migrants who depart from a place.

III) The same person is an immigrant and an emigrant.

frofafed & § o a1 arar 93 g2

I) S I T U R R Yag HRd 8, I8 YA & =0 H ST el g
I1) SarE gardt 8 S U &I | TRy B B

111) U & i U YAl 3R Us ISart gl

Both I & II are correct

A
I 3R 11 3T Wt §
Only II is correct
B
o 11 981 8
Only I is correct
C
Paa I TG
All of the given options
D

feu e |t farew

Correct Ans : D

Subject : General Knowledge graduate

Q.No: 16 Places have astronomical observatories built by Raja Sawai Jai singh are:
2685245

1.Delhi

2.Jaipur

3.Ujjain

4. Jaisalmer

o Farg o Rig gry FAffd @i du=ment sef fRud @ ?


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

1. faeet

2. SR
3. I=H
4. SHAR

1 and 3 only

Fad 1 3R 3
1,2 and 3 only

¥ad 1,2 3R 3

2 and 4 only

Fad 2 AT 4

1,2,3and 4

1,2,3 3R 4
Correct Ans : B

Subject : General Knowledge graduate

Q.No: 17 Who is the author of a new book titled ‘The World: A Family History'?
2691547

g acs: U Bt R THE U T8 JKs & oD D 82

Shashi Tharoor

A
R YT
Salman Rushdie
B
HEHT $
Salman Khurshid
C
gauT gl
Simon Sebag
D
ATEHT HaT

Correct Ans : D

Subject : General Knowledge graduate
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Q.No: 18 Select the synonym of the given word.

2621399
Commencement
A Beginning
B Contrast
C Dissimilarity

Composition
Correct Ans : A

Subject : General English graduate

Q.No: 19 In the following question, the sentence/passage is split into four parts and named P, Q, R and S. These four parts
2637688 4re not given in their proper order. Read the sentence and find out which of the four combinations is correct and
mark it.

P. However unlike the Monetarists, they argue that the key cause of the Depression

Q. There are two prominent theorists in the Austrian School on the Great Depression, Austrian economist
Friedrich Hayek and American economist Murray Rothbard

R. Was the expansion of the money supply in the 1920s, of which led to an unsustainable credit-driven boom

S. In their view, much like the monetarists, the Federal Reserve (created in 1913) shoulders much of the blame

A SPRQ
B PQSR
C QSPR
D RSQP

Correct Ans : C

Subject : General English graduate

Q.No: 20 Select the correct indirect speech of the given sentence.
2665331

"It isn't fair!”, shouted Aslam, “Coach Ravi never lets me start the game.”
A Aslam exclaimed that it wasn’t fair that coach Ravi never let him started the game.
B Aslam exclaimed that it wasn’t fair that coach Ravi did not let him start the game.
C Aslam exclaimed that it wasn't fair that coach Ravi never let him start the game.
D Aslam exclaimed that it wasn't fair that coach Ravi never letted him started the game.

Correct Ans : C

Subject : General English graduate

Q.No: 21 Improve the bracketed part of the sentence.
2665561

Chocolates (is widely know) as toxic for cats and dogs.
A were being known

are widely known
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C was known
D No Improvement

Correct Ans : B

Subject : General English graduate

Q.No: 22 In the following question, out of the four alternatives, choose the one that is closest in meaning to the given
2676123 4.

Arcane
A Gaucherie
B Propulsive
C Sibylline
D Acerbic

Correct Ans : C

Subject : General English graduate

Q.No: 23 In the following question, four words are given, out of which only one word is incorrectly spelled. Find the
2676540 incorrectly spelled word.

A facade
B feasible
C farse

D feud

Correct Ans : C

Subject : General English graduate

Q.No: 24 In the below question, a part of the sentence is bracketed. Below are given alternatives to the bracketed part
2676843 \yhich may improve the sentence. Choose the correct alternative. In case no improvement is required, choose 'No
Improvement' option.

Even with the growth of renewable energy, coal (has been project to be) the backbone of the electricity sector till
2030 and beyond.

Has be projected to be
Has been projected to be

Have been projected to be

o 0o w r

No improvement
Correct Ans : B

Subject : General English graduate

Q.No: 25 In the sentence, identify the segment which contains the grammatical error.
2677423

Critical nutrients like as protein, iron and zinc in food crops could reduce significantly by 2050 due to climate
change and rising carbon dioxide level.
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A like as
B could reduce
C significantly by

change and rising
Correct Ans : A

Subject : General English graduate

Q.No: 26 In the sentence, identify the segment which contains the grammatical error.
2677428

Being busy is not the same as being productivity.
Being busy
Being productivity

Is not

o 0o wm >

The same as
Correct Ans : B

Subject : General English graduate

Q.No: 27 In the sentence, identify the segment which contains the grammatical error.
2677459

Arun is the most tallest boy in the entire class of sixty students.
boy in
the most tallest

of sixty students

o O W >

entire class
Correct Ans : B

Subject : General English graduate

Q.No: 28 In the following question, a sentence has been given in Direct/Indirect Speech. Out of the four alternatives
2685678 suggested, select the one which best expresses the same sentence in Indirect/Direct Speech and select your
answer.

"From one of the windows of my flat I can see the Qutub Minar", said my friend.
A My friend told that from one of the windows of his flat he could see the Qutub Minar.
B My friend said that from one of the window of his flat he can see the Qutub Minar.
C My friend said that from one of the windows of his flat he could see the Qutub Minar.
D My friend said that from one of the windows of my flat he can see the Qutub Minar.

Correct Ans : C

Subject : General English graduate

Q.No: 29 Four alternatives are given for the idiom/phrase bracket in the sentence. Choose the alternative which best
2688727 expresses the meaning of the idiom/phrase and mark it.
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In spite of the immense pressure exerted by the militants, the Govt. has decided not to (give in.)

A Accede
B Yield

C Oblige

D Conform

Correct Ans : B

Subject : General English graduate

Q.No: 30 In the following question the first and the last part of the sentence/passage are numbered 1 and 6. The rest of
2689667 the sentence/ passage is split into four parts and named P, Q, R and S. These four parts are not given in their
proper order. Read the sentence/ passage and find out which of the four combinations is correct.

1. As the government aims for a Swachh Bharat, simply cleaninhg up the streets won't tackle the enormity of
India's garbage problem.

Q. Rapid urbanization, combined with development, and an ever-increasing population, has meant
disproportionately high volumes of waste.

S. In India-about 62 million tonnes of municipal solid waste produced annually.
R. Urban India is the world's third-largest garbage generator (after China, and the US).

P. A 2014 Planning Commission report says that, "more than 80 per cent is disposed of indiscriminately at dump
yards in an unhygienic manner."

6. A 2015 Central Pollution Control Board (CPCB) report says 1,43,449 tonnes of waste is generated in India daily,
out of which only 32,871 tonnes are processed.

A QSRP
B SQPR
C RSPQ

SRPQ

Correct Ans : A

Subject : General English graduate

Q.No: 31 Select the antonym of the given word.

2692993
LAUNCH
A withdraw
B dinner
C release
brake

Correct Ans : A

Subject : General English graduate
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(226'\;;13628 Select the word with the correct spelling.
A vendeta

B detoxify

C bumbbler

D shreder

Correct Ans : B

Subject : General English graduate

Q.No: 33 In the following question given below, a sentence is provided with two blanks. Choose the correct combination of
2727922 \\ords that fit into the corresponding blanks.

The first decision that has been is to force multinationals to taxes where they operate.
A ratified, pay
B ratify, paying
C ratified, pays

ratifies, paying
Correct Ans : A

Subject : General English graduate

(22.7|\12(;3?:|49 Select the wrongly spelt word.
A Focal

B Vocal

C Vehical

D Local

Correct Ans : C

Subject : General English graduate

Q.No: 35 A network geometric arrangement in which a single connecting line is shared by a number of nodes is called as?
2635721

T Aedd ST o R gy &t WReAT §RT U bl HAfaeT T8 & T1en foan ST 8, HY o1 gl Sl 82

Car Topology

SR cararet

Bus Topology

9 gt

C Truck Topology
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TP cIqrareit

Star Topology

WR aqraret
Correct Ans : B

Subject : General Computer Graduate

Q.No: 36 The resolution of a printer or display device is measured by which of the following?
2635916

T fifeR a1 et Ramew o1 Yoiiege Fufafed & @ foraes gRT omon S 82

The number of dots per square inch

A
wfer TR $9 sicH 3t W&
The number of dots printed per inch
B
vfa § gied siew @1 wen
The number of dots printed per unit time
C
ufar gfe waa 9 gfsa sicy 91 d@n
Number of word displayed
D

weikia W=l &Y e
Correct Ans : A

Subject : General Computer Graduate

Q.No: 37 What we call to that character which is raised and smaller above the baseline in ms word?
2636102

TH 39 38R P! FT Hgd ¢ ol THIY I H ST ¥ SR IS[T T 8 3R BeT 872

Raised
A

B

Smaller
B

IR

C Quotient
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LElIRIN

Superscript

JRIEpY

Correct Ans : D

Subject : General Computer Graduate

Q.No: 38 What is the use of Virtual memory?

2636862
T AHR BT 1 ITIT 82
Enabling data to make up for physical memory limitations
A
31 B Wifas AN (physical memory) w3l & i e g9
Enabling information to make up for physical memory limitations
B
Wifaw AN (physical memory) HH13i & e Ge=m &1 Haw S0
Enabling computers to make up for physical memory limitations
C
FHuIeX B Hifas AWK (physical memory) T3 & R wem s
Enabling the device to make up for physical memory limitations
D

%m B Yifae AARY (physical memory) e & ﬁ'l'{ HEH JHTHT

Correct Ans : C

Subject : General Computer Graduate

Q.No: 39 What quality does Direct Memory Access have?

2636874
STRGE HHRT Ty & 1 01 82
Allows no devices to communicate or receive data more easily
A
fpeit oft fEarsw @) 9gd T | WAR a1 3T U HA I Al T a1 @
Allows some devices to communicate or receive data more easily
B
$O SUDVI B! Igd A A TR T 32T U B3 Pt Al a1 8
Allows a few devices not to communicate or receive data more easily
C

$O SUDBIUI B Igd AT F WAR T 32T U 781 B a1 8l

D Allows input/output devices to communicate or receive data more easily

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

$1Ye/ 3T3cye fEarsd & 9gd Tl & ST TR a1 Ui &3 31 gafd a1

Correct Ans : D

Subject : General Computer Graduate

Q.No: 40 Which of the following is a tool for preventing viruses from infecting computers?

2636953
SR DI Shac B dTel TRY B A & O 77 & J HH-T1 ST 82
Antivirus software
A
TRy Aireday
Trojan horses
B
o g
Photoshop
C
Bleri
Adobe
D
LEIC]

Correct Ans : A

Subject : General Computer Graduate

Q.No: 41 What do you understand by gateway or Router?

2639081
T3 7 3R F MY T U © ?
Node that is connected to two or more area
A
i ot &1 a1 @ 9 3 &7 A g1/
Node that is connected to two or more people
B
drs ot & a1 &t ¥ iR @ & g 8
Node that is connected to two or more networks
C

1S ot &t a1 §F A/ 3fe Fead | g1 8

D Node that is connected to two or more point
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rs ot g a1 @ 9 3if¥re figatt @ geT 8t

Correct Ans : C

Subject : General Computer Graduate

Q.No: 42 Which of the following is NOT one of the four major data processing functions of a computer?
2645168

faffed § @ SH-91 $R F IR U ST TR il § It T8 82

gathering data

A

STT |UgId AT

processing data into information
B

3T B I § WET BT

analyzing the data or information
(o

ST a1 a1 &7 fazawor

storing the data or information
D

2T 1 TEPRI SIG BT

Correct Ans : C

Subject : General Computer Graduate

Q.No: 43 Which key is used to move the insertion point to the beginning of the current sheet?
2678266

TRTeH fig &1 adu e 3 Yoomd B o I & o 5w Froit o1 IuanT fasan i g2

Pageup
A

9 3

Home
B

g

Ctrl + pageup
C

Ferd + U ST

D Ctrl + Home
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Feld + g
Correct Ans : D

Subject : General Computer Graduate

Q.No: 44  Which of the following is not a criterion of classification of the microprocessor?
2681055

Frofifed & 3 S 1 AEHITRW & ailau B FHE Tel 82

Chip type
A

oo yeR

Country of making
B

T BT a4

Memory size
C

AHI e

Clock speed
D

e Wis

Correct Ans : B

Subject : General Computer Graduate

Q.No: 45 What is an operating system?

2681063
SffoRfeT R w82
Hardware component of a main frame computer system
A
B T $ex RIeH &1 AW HulHe
Application program that produces text files
B
TRIP R WUTH & TR BISd I914T @
Set of programs that lets you use your computer’s hardware and software
C
WIUTH T T &l SATUHT U1 HEER & FISIUX AR AW BT SUGRT A &aT &
System of procedures for operating a computer
D

FuIeX & "aTaq & fag uisarsit 5t gomeh

Correct Ans : C

GET IT ON

Google Play
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Subject : General Computer Graduate

Q.No: 46 Which of the following is not an edition of Ubuntu?

2684480
9 & F o W1 Ie¢ BT TWHROT T 82
Desktop
A
STl
Server
B
IR
Core
C
DR
Interface
D
ELAL]

Correct Ans : D

Subject : General Computer Graduate

Q.No: 47 Name the first mechanical calculating device used for counting large numbers.
2690265

TSI TAT D1 VAT & T IuGIT fhT 91H a1l ygdt Fifes 0T SUHRUN 6T 19 Saigy|

Computers
A

IR

Ruler
B

TR

ABACUS
C

HAHH

Compass
D

HHTH

Correct Ans : C

Subject : General Computer Graduate

GET IT ON

Google Play
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Q.No: 48 Which network is generally used by the companies privately for Electronic Data Interchange (EDI), which is a
2690270 gtandard used for interchanging business data?

SAGP ST $exadl (EDI) & forg fsh dR R Hufal gRT SR W 5 Aeads &1 IuanT far Siidr 8, it 3 sarawniie Ser
F HeH-USH & o ST fovar oA are U A 22

Peer-to-peer Network (PPN)

A
frR-g-dR Acad (PPN)
Value-added Network (VAN)
B
d¢g TSS s (VAN)
Source Area Networks (SANs)
C
IR uf¥ar Aead (SAN)
Metropolitan Area Networks (MANs)
D

Aeifered Tham Aead (MANs)

Correct Ans : B

Subject : General Computer Graduate

Q.No: 49 In M.S Word to disable extended selection mode we press?

2695723

Ty o # fawaid 9o Ais @) Afera w7 & e &1 @ e €2

Press F8
A

T qaY

Press Del
B

ERELY

Press Esc
C

ST qamg

Press End
D

TS Y

Correct Ans : C

Subject : General Computer Graduate
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Q.No: 50
2698826

GET IT ON

Google Play

Which memory is very high-speed memory placed in between RAM and CPU?

W 3R iy & fiT oH It AERT 95d B15-Ws FER B 82

Cache memory

1 AEY

New memory

- A

Primary memory

TEHRY AARY

Buffer memory

THI AAN

Correct Ans : A

Subject : General Computer Graduate

Q.No: 51
2614264

Reema was born at the end of the month in which Republic Day fell on Monday. On which day Reema's birthday

fell?

{1 BT 51 IT FER F 3 H g o1 Forw Tora fiaw WHaR &Y usdr 71 S &1 ST g o usan 82

Saturday

Yfar

Monday

Friday

Sunday

IqaR

Correct Ans : A

Subject : General Aptitude Graduate
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Q.No: 52 In a certain code, if:

2625271
(i) A @ B means A is B's father.
(ii) A # B means A is B’s mother.
(iii) A + B means A is B’s son
(iv) A - B means B is A’s daughter.
Z@O#D+R-C
How is O related to C in the given expression?
s [fyd ®re ¥, afe:
(VA @BHT3f B A, BH U3l
(iVA # BET S B A, BII AT B
(ii)A+BBITRA BIT TR
(iv)A-B®T i 8B, AP TR BI
Z@O#D+R-C
fau MU e # 0, C ¥ P9 UHR el g2
Daughter

A
Ié
Father

B
foem
Wife

C
Tat
Mother

D
|t

Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 53 S s to the north of R. F is to the north-west of M. N is to the south-west of M. If N is to the south of F and F is to
2637448 the east of S then, how many people are to the left of M, If all are facing north?

SRF IR U Bl FM & IcR-Ulm & g1 N,M & feo-uldm & g1 afg N,F $ T A g iR F, s & gd o §1 afe @l @1 SR
@t R gERd g, df fbar a1 M & a8 3R &2

A One
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Two

Three

Four

IR
Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 54 What is the value of 'k' in the equation given below?
2641086

24% of 36% of 45 = 30% of 12% of 9k.

19 fou 7w THieRur A k' BT AF T 82

45 D1 36% PI 24% = 9k HT 12% D1 30%

10
A

10

12
B

12

15
C

15

18
D

18

Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 55 PZLGVYMOKQAIBUHTFSCRDXNIEW
2642130

Using the given sequence, find the missing term:

GET IT ON

Google Play
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ZQU, VBF, OTR, ACN, ?

PZLGVYMOKQAIBUHTFSCRDXNIEW

3T T 3 IehH HT ITUNT Fd §Y, YW UG BT 99 PITO:

ZQU, VBF, OTR, ACN, ?

BDW
A

BDW

NEZ
B

NEZ

UXw
C

UXW

BTC
D

BTC

Correct Ans : C

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 56 Arrange the given words in the sequence in which they occur in the dictionary and then choose the correct

2645636 sequence.

(i) Bound, (ii) Bonus, (iii) Bunch, (iv) Board

U T Trea} &I WeadI F o I HH H Fafyd ¥ IR R TE w9 g
(i) Bound, (ii) Bonus, (iii) Bunch, (iv) Board

(i), (iv), (i), (iii)

(i), (iv), (i), (iii)
(i), (iv), (iii), (i)

(i), (iv), (iii), (i)
(iv), (ii), (i), (iii)
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(iv), (ii), (i), (iii)
(iv), (iii), (ii), (i)

(iv), (iii), (ii), (i)
Correct Ans : C

Subject : General Aptitude Graduate

Q.No: 57 P Q. R, S, T, UandV are sitting along a circle facing the centre. P 15 between V and 8. R, who 15 2=d
2663905 4, the right of S is between Q and U. Q is not the neighbour of T.
‘Which of the following 13 the correct statement?

PQR S TUMRVIETH IRTE RS G JAF A IS EIP,VIRSFTTHAGIR, NS HFIRIA TN V/IAWE, Q
IR U ST HA B Q, T o1 uskl 78 71 Fuforiad & I &1 wr udt wu= 82

V is between P and S

A
V,P3RSHFRNIFR
S 1z 20d to the left of V
B
S, VHF T A g WM W g
R is third to the left of P
C
R, P ¥ o R @
P is to the immediate left of S
D

P,SH IR @
Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 58 What approximate value will come in place of question mark (?) in the given question?
2670456

?=(29 % 34 -5+ 7

9 gy 7 gy fog (7) & RIM R 1 AT T M2

?2=(20 % 34 -5 =7

A 135
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GET IT ON

Google Play

135

139

139

137

137

142

142

Correct Ans : C

Subject : General Aptitude Graduate

(226N701 15193 The product of the roots of the equation a® — 5a + k= 10 is 4. Find the value of k.
THIRTOT a2 — 52 + k = 10 & F@Al &7 0TaAther 4 §1 K &7 A A9 a0
6
A
6
5
B
5
4
C
4
7
D
7

Correct Ans : A

Subject : General Aptitude Graduate

Q.No: 60 A shopkeeper sells his goods at 13.33% loss on selling price. Find his loss% on cost price?
2673342

% gHMER fhHl avg &I fAHaed W 13.33% g1 W I9d1 §1 GRAAS g1 % J1d |
A 11.76%
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11.76%

10.92%

10.92%

9.05%

9.05%

11.23%

11.23%

Correct Ans : A

Subject : General Aptitude Graduate

Q.No: 61 In question, a few statements have been given followed by some conclusions. Consider the statements to be true
2679770 and answer which of the given conclusions are correct with respect to the statements.

Statements:

Some skirts are benches.
No bench is a table.
Conclusion:

I. Some skirts are tables.

II. Some benches are skirts.
III. All benches are skirts.

IV. Some tables are skirts.

U9 H, $O U F ¢ TS FHY QU T §| FUAl I I A SR IWN ¢ o5 T T Ho=f & & DH-91 H 9t g
FY:

$B WS, 9 B

IS S, A e B

e

1. $3 Wd, 09 g1

II. $ 94, Whe gl

111, wft 9=, Wl Bl

IV. $ O, Whe gl

Only I follow

Fad I ATV HaT &
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Only II follows

B
Fad I ATIRVT BT &
Only II and 1V follow
C
Had 11 3R IV TRV el §
Only I and III follow
D

Had I 3R 111 IRV HaTl @
Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 62 In question, a few statements have been given followed by some conclusions. Consider the statements to be true
2679887 3nd answer which of the given conclusions are correct with respect to the statements.

Statements:

All tables are chairs.

No chair is a couch.

Conclusions:

I. At least some couches are chairs.

II. No table is a couch.

Y B, $T U & TG $S HHY QU T | HUAl B T TH R I & % foT T Hui § I $H-91 Hu= T 8
FY:

Tt O HRIT )

P P P1od T B

e

I. 9 q $H 8 B39 HRAT g

I1. TS 290 B39 Tl ¢

Conclusion I follows

A
Hindi
ey 1 3R BT
Conclusion 1I follows
B

frepd 11 SrgaRur Sar @

C Either conclusion I or conclusion II follows
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a1 ot fee 1 a1 e 11 SRR FRar @

Neither conclusion I or conclusion II follows

Tt e 1 3R T & e 11 SRR HRar @

Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 63 Study the Chart and answer the question
2697569

Percentage of costs

B Raw Material

B Energy

N Labour

B Plant and madhinery

B Transportation

How much more is the sector angle for the Energy than the Labour?

I1E BT AT PP (4 U BT IR o

CILGRE IR IGEIG

A
200
ge
B
ge
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420

36°

36°

Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 64 Select the option that will come next in the given series.

2755670
Question Figure:

+ . o+
% + 4 %

39 fased &1 797 B ot § T8 e # S S

o s

+ . +
+ + i + % + %

A

GET IT ON
Google Play
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AN

Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 65 Select the option in which the numbers share the same relationship as that shared by the given pair of numbers.
2755699

542 : 121

39 faded &1 997 HY o T I Taie HT IR0 R ¢ off Semsit & 3 T S gRT e faar S @
542 : 121

645 : 169

645 : 169

114 : 613

114 : 613

223 : 196

223 : 196
134:64

134 : 64
Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 66 Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.
2755713

fofifad IR seR TEl & ¥ dF te fAfYa ad ¥ 9am § okt st 81 fawm g
A EGI
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EGI

ACE

ACE

GIK

GIK

TVX

TVX
Correct Ans : A

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 67 A total of Rs. 312 was split among 100 girls and boys, with each female receiving Rs. 3.60 and each male

2617738 receiving Rs. 1.20. There are __ boys in all.

FA 3.

312 & 100 TSfHAT 3R TeH! & g fauifora fasar mar, R gde Afear &1 ¥ 3.60 3R TS T3 &I 3 1.20 U gl

of & TS Bl
50

50

10

10

40

40
20

20
Correct Ans : D

Subject : General Maths graduate

Q.No: 68

2641674 What should come in place of the question mark (7} in the following question?

[{(2160 = 12)= 6} =2] +82="7
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fafafaa uy & uyaes fe (o) & wE wET A g

[{(2160 = 12)= 6} =2] +82="7

76
A

76

79
B

79

82
C

82

85
D

85

Correct Ans : B

Subject : General Maths graduate

Q.No: 69 6a-4 6b-4 6c-4
2643389 If + +

= 0, then l+l+1 =7
a b o a b ¢

T 6&—4+6b—4+ﬁc—4 =0g, l+l+l =
v} b [ a b ¢
9
2
A
9
2
2
9
B
2
9
4
3
C
4
3
D

aolen
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aolen

Correct Ans : A

Subject : General Maths graduate

Q.No: 70 If ratio of two numbers is 9 : 13 and there H.C.F. is 19 then find L.C.M of these two numbers.
2645734

e & Teafl T U 9 ¢ 13 § 3R IdT Head JHITY 19 § af 37 & TRemsft &7 agad qHIa J1d S|

2223
A

2223

234
B

234

1011
C

1011

143
D

143

Correct Ans : A

Subject : General Maths graduate

Q.No: 71 If Rohan pack 4 or 5 apples in each box, he is left with 2 apples. Also if he pack 8 or 9 apples in each box, he is
2645748 |eft with 2 apples. Find the no. of apples that he had.

I g7 UdD f&sd H 4 I1 5 A9 TP Rl &, Al TP U 2 9 5994 &1 IS 98 U fosd & 8 a1 9 9 U &l g, o +ft
ISP UM 2 V9 9 &1 STP U sl B! = 1 P

357
A

357

362
B

362

183
C

183

D 360
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360

Correct Ans : B

Subject : General Maths graduate

Q.No: 72 The value of
2667225

8
244 2754/28 js:

242528

HTAA ©:

1

Correct Ans : B

Subject : General Maths graduate

Q.No: 73 The ratio of bases of two triangles is x : y while their areas are in the ratio a : b. What is the ratio of their
2671546 corresponding altitudes?

& YT & SMURY BT UM x : y § 6l I SABA! BT U a : b g1 ITP! T SaATedl BT AUTT FT 82

a,6 x
b
A
a,6 x
vy b
ax : by
B

ax : by
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ay : bx
(o

ay : bx

, b

_,E
D

x,b

y

Correct Ans : C

Subject : General Maths graduate

Q.No: 74 Speed of motorboat in still water is 45 kmph, If the motorboat travels 80 km along the stream in 1 hour 20
2672870 minutes, then the time taken by it to cover the same distance against the stream will be:

id I H U Hieale & ard 45 . /e g1 afg Aexale 4Rt &1 faxn & 80 fovrdt. g 1 et 20 e & a9 o=t 8, @t 98
Il 81 QI URT & Ufagd o= & fhat &R & 0 St

3 hrs
A

34c

1 hr 20 min
B

1 der 20 fiFe

2 hrs 40 min
C

2 °¢ 40 fame

2 hrs 55 min
D

2 °e¢ 55 fame

Correct Ans : C

Subject : General Maths graduate

Q.No: 75

2673005 P and Q start nunning simultaneously — one from point A to B and the second from point B to A. P's speed

is E % of Qs speed. If after crossing Q. P takes Eé hours to reach B, how much time does Q take to reach
A after crossing P? B

P 3N Q U | Telel % & - Uah. [l AW B T g0, fag B AFT 3R o &1 p Y
afe Q#T fd &1 #1 A QF IR & F aG PH BTG WGAN # 2 e &l P
UR & & G Q&I AT g # o wHg wem

A 3 hours 36 min
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3 4¢ 36 fime

3 hours 48 min

B

3 de¢ 48 fime

4 hours 12 min
C

49¢ 12 fime

4 hours 24 min
D

4 4 24 faAe

Correct Ans : A

Subject : General Maths graduate

Q.No: 76 A can do a piece of work in 10 days and B can do it in 12 days. They work together for 3 days, then B leaves and
2673046 A alone continues. 2 days after that C joins and the work is completed in 2 days more. In how many days can C
do it if he works alone?

A TH B Bl 10 o H R JobaT B 3R B 39 12 ol & o= Topal 81 9 3 o & forw T W1 &1 Rl §1 fhR B 1H BIS
2 3R 3FTal T fa1 & T A 31pa BT Rl 81 3T 91¢ C JSaT € 3R &1 2 37 H 91 &) SIrr 31 91 &R b C fban oAl
T BTH B Tbdl 872

30 days

30 fa
50 days

50 fga
40 days

40 &

60 days

60 fa1

Correct Ans : C

Subject : General Maths graduate

Q.No: 77 Average of 28 numbers is 18.6. When 'n' numbers are added, then the average is increased by 1.4. If average of
2674235 , numbers is 24.9, then what is the value of n?
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28 T3t HT 3N 18.6 §1 T 'n' WeAT SIS W1 B, A S H 1.4 BT gfG B
21 afe n Gomait &1 3 24.9 B, df n &1 9F o 82

6
A

6

10
B

10

12
C

12

8
D

8

Correct Ans : D

Subject : General Maths graduate

.No: 78
(226709493 The x‘ﬂucof(2%+§ﬂf 1§>< 3%) of (5=5 oflﬂ)xiﬂf24g=1—k.Thcnklicsinbch\'cen:

(2%+4;af 1%){3§)of(5+50f10)x§af2§=1-k & di K @l #A1 54 gi=l & A%
oI

0.6 and 0.7

0.6 3X 0.7

0.07 and 0.08

0.07 3R 0.08
0.7 and 0.8

0.7 3R 0.8
0.06 and 0.07

0.06 3% 0.07
Correct Ans : C

Subject : General Maths graduate
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Q.No: 79
2680144

What approximate value will come in place of the question mark?
15x10+75+10+75-10+75+10="

FHATE (avg (2) F TATT TCATHT F19 97 7T ATCT 2
75x10+75+10+75-10+75+1D0 =7

230.5

230.5
232.5

232.5
233.5

233.5
235.5

235.5

Correct Ans : B

Subject : General Maths graduate

GET IT ON

Google Play

Q.No: 80 A sum of money becomes ten times itself at simple interest. If the time period (in years) is numerically equal to

2680259

the rate of interest, find the annual rate of interest.

TH YR WIYRY SA7T6 R WA B &4 I 8 ol 31 afe; <ot w0 ofafy (auf #) WReAetds 9 F S1o $T &R P SRR ¢, af

TS B b R J1d BIT

25%

s8]
LA
aﬂ

]
=]
-1
(-]

30%

90%
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90%

Correct Ans : C

Subject : General Maths graduate

Q.No: 81 Vessel A contains 8 litres of milk solutions with 60% milk, Vessel B contains 6 litres of milk solutions with 70%
2681536 |k and Vessel C contains 10 litres of milk solutions with 90% milk. All are poured in vessel D. Find the average
of milk in vessel D.

FIT A T 60% Y & TTY 8 Tex gY BT U §, T B H 70% g & 1Y 6 TR g &1 °9id § 3R &+ C H 90% g¥ & Iy 10
Wex gy &1 Ot g1 Tt Y F D & STl a1 81 S D H g HT 3 1 B

0.7 litres
A

0.7 @R

0.8 litres
B

0.8 @R

0.65 litres
C

0.65 diex

0.75 litres
D

0.75 dtex

Correct Ans : D

Subject : General Maths graduate

Q.No: 82 The length of a circular track is 800 m. Virat and Amresh started from the same point on the track and ran in
2696471 opposite directions. Virat took 12 minutes to cover one kilometre while Amresh took only 9 minutes to cover the
same distance. They kept running for 90 minutes. How many times did they cross each other?

TP GAIPR ¢h Bl dals 800 Her B fiRie 3R iRy T R ts &) fig I uR™ o faudiq fammsit & <rsd B 1 favle & us
frdmie o1 &t @ HA F 12 e o Jafds 3w &t I+l €t g8t 97 B | Faa 9 e T 90 e 9@ IS W]

fha IR I T gUR & UR fasar ghm?
10
A
10
20
B
20
21
C

21
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30

30
Correct Ans : C

Subject : General Maths graduate

Q.No: 83 Which of the following is irrational?
2700249

9 & 4 SH-T1 euiag g2
Product of /96 and /150

V96 31X /150 &1 oTaTthel

Product of [:? — 2\,@) and [:\.“E + \,"E)

(7 — 2v/6) 3R (V49 + V24) &1 IoTAHS

Product of /42 and 168

V42 31k V168 &1 T

Product of /45 and /75
V45 3iR /75 & a0TeThe

Correct Ans : D

Subject : General Maths graduate

Q.No: 84 iy & Q <o “SffAT 7 % TR BIF 27

2627719

A gadie™

B Frapwr TEt T
c GUSTHARY T
D giared ua

Correct Ans : B

Subject : General Hindi graduate

Q.No: 85

5560123 fAfRed & ¥ S19-91 Tea TegTy THN T Ha! IaTe0l 872

A ST
B Harer
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C LRCIEk|
D Hraeuda

Correct Ans : A

Subject : General Hindi graduate

Q:No: 86 ffufRe wrea-wigl # ¥ BH-1 Rided &5 ea! &1 Te) ITER 27

2660267
A Hrufess, Mar=far, srures
B iR, g, gegoa

C TR, Hahvs, the
D g @, A, N

Correct Ans : D

Subject : General Hindi graduate

QNo: 87 ' e 3 & v w1t Bl 90 P

2660272
A od, 99

B Helxd, qared
C TG, ARUTS
D faemer, goiv

Correct Ans : A

Subject : General Hindi graduate

QNo: 88 - prpfeife & & senferes” @1 facin we w1 82

2660405

A 3R

B e

C Tped /v
D Hiat

Correct Ans : B

Subject : General Hindi graduate

Q.No: 89 fffad & § UwaeH-sgaeH &1 T US-TH DIF-91 T8 872

2660733
A gfear-gfsar
B gfear-gfeat
C HY-dirait
D fSfoan-ffeat

Correct Ans : C

Subject : General Hindi graduate
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Q.No: 90 ; :
5660879 = § Q wroaree fovar faRvor /el &1 Tud Sifie-

A 9, 9Ut, BTHL, 3P
B g1, Sa-1, faan, R
D 39, B, q9, 99

Correct Ans : D

Subject : General Hindi graduate

QNo: 91 fyr 33  garTreitees Furd &1 90 FRT-

2660888

A T

B T, T
C |

D Eil

Correct Ans : C

Subject : General Hindi graduate

Q.No: 92 . . . |
5661377 fAefafad & @ dieifad "5t & 9 & aid et o oiid ” BT T 3 82

A qw R o1 9 T $eA § g 78 e
B I Pt A BT UI-3I9 T8 ST

C SfRIF WA BT G Bl @

D STy fodlt &1 g5 fonelt 3t

Correct Ans : B

Subject : General Hindi graduate

Q.No: 93 profufRg & ) yiadTad T T BT F99 FIT-

2666389
A "
B i

C firte
D e

Correct Ans : D

Subject : General Hindi graduate

Q.No: 94 fou 77U a1eg & fow i1 & 9§ U Wree HT 98 Hifore-
2666525
b Tui(Tepferd) fa=RT arer e

A gfparat

GET IT ON
Google Play
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B fRisa
C fafife
D v

Correct Ans : A

Subject : General Hindi graduate

Q.NO: 95 ' profufRg & | arivTd/Add sg BT 9 B

2666656
A G

B forew
C RRICES
D HERIIGE

Correct Ans : A

Subject : General Hindi graduate

QNO: 96 e & § il a9 BT T FIT-

2666954
A W9 TRI9 WA a9 Hif gRft|

B RIS ® BT Al &1 $ifiAe v yer fosar i
C Sruraeht fRgasit &1 ugE <eR 81

D M T A9 @1 3R Ire F g 954 UreR B

Correct Ans : B

Subject : General Hindi graduate

Q.No: 97 i & Q Fiegaras 9d- § Uag 9199 BT Tu BIiT-

2667721
A HIg ATaar g1
B I SIS TET &2
C O AT I

D TE T ¢

Correct Ans : D
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